

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

-	WDAS	SIS	Jump to: PRCUID 🟦 Go 🕼 Home 🎤 Personalize 🗿 Accessibility 🛜 App Help 🌾 Abou	ut 😈
W	/elcome, Lu Anne Cottrill		Procurement Budgeting Accounts Receivable Accounts Payable	
s	olicitation Response(SR) Dept	: 0803 ID: ESR100318000000016	28 Ver.: 1 Function: New Phase: Final Modified by batch , 10/17/2018	
	Header 🛯 1			
	General Information Con	tact Default Values Discount	Document Information	^
	Procurement Folder	r: 483762	SO Doc Code: CRFQ	
	Procurement Type	: Central Master Agreement	SO Dept: 0803	
	Vendor ID	000000186390	SO Doc ID: DOT1900000024	
	Legal Name	: HURTT FABRICATING CORP	Published Date: 9/26/18	
	Alias/DBA	.:	Close Date: 10/17/18	
1	Total Bid	I: \$0.00	Close Time: 13:30	
Þ	Response Date	: 10/03/2018	Status: Closed	\checkmark
Í			Apply Default Values to Commodity Lines View Procurement For	older



Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Solicitation Response

	Proc Folder : 483762 Solicitation Description : BREAKAWAY SIGN SUPPORTS AND ASSOCIATED HARDWARE Proc Type : Central Master Agreement					
Date issued Solicitation Closes Solicitation Response			Version			
	2018-10-17 13:30:00	SR 0803 ESR1003180000001628	1			

VENDOR	
000000186390	
HURTT FABRICATING CORP	
Solicitation Number: CREQ 0803	DOT190000024

e e non a non n		ona a	0000	201100000021				
Total Bid :	\$0.00			Response Date:	2018-10-03	Response Time:	11:35:37	

Comments:

OR INFORMATION CONTACT THE BUYER					
Crystal Rink					
(304) 558-2402 crystal.g.rink@wv.gov					
Signature on File	FEIN #	DATE			
All offers subject to all terms and conditions contained in	n this solicitation				

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	BREAKAWAY SIGN SUPPORTS AND ASSOCIATED HARDWARE	0.00000	EA	\$0.000000	\$0.00
Comm Code	Manufacturer	Specification		Model #	
30102903					
Extended De	VENDOR IS TO PUT \$0.0	00 ON THE COM S AS AN ATTACH	MODITY LIN	E IN WVOASIS,	BIT A. IF BIDDING ELECTRONICALLY, COMPLETE THE EXCEL PRICING PAGE, AND BMITTED VIA EXHIBIT A PRICING PAGE WILL

CRFQ DOT190000024

The following estimated quantities are for bid purposes only. Actual quantities will be determined by needs of the West Virginia Division of Highways and may be increased or decreased.

	DESCRIPTION	UNIT PRICE	ESTIMATED	TOTAL COST
NO.	PER EACH, S4X7.7 STUB POST	\$60.00	QUANTITY 150	\$9,000.00
2	PER EACH, S4X7.7 STUB POST W/ FLAT CONNECTION AND LEFT	\$60.00	50	\$3,000.00
	HAND SLOT PLATE BEVEL PER EACH, W6X12 STUB POST	\$71.00	125	\$8,875.00
	PER EACH, W8X18 STUB POST	\$121.00	75	\$9,075.00
	PER EACH, W10X22 STUB POST	\$144.00	25	\$3,600.00
	PER L.F. S4X7.7 SIGN SUPPORT (TOPS ONLY)	\$14.00	1000	\$14,000.00
7	PER L.F. S4X7.7 SIGN SUPPORT (BOTTOMS ONLY)	\$25.00	1500	\$37,500.00
	PER L.F. S4X7.7 SIGN SUPPORT (COMPLETE POST)	\$20.00	14	\$280.00
9	PER L.F. S4X7.7 SIGN SUPPORT W/ FLAT CONNECTION AND LEFT HAND SLOT PLATE BEVEL (BOTTOMS ONLY)	\$23.00	250	\$5,750.00
	PER L.F. S4X7.7 SIGN SUPPORT W/ FLAT CONNECTION AND LEFT HAND SLOT PLATE BEVEL (COMPLETE POST)	\$20.00	15	\$300.00
11	PER L.F. W6X12 SIGN SUPPORT (TOPS ONLY)	\$19.00	1000	\$19,000.00
12	PER L.F. W6X12 SIGN SUPPORT (BOTTOMS ONLY)	\$35.00	1000	\$35,000.00
13 I	PER L.F. W6X12 SIGN SUPPORT (COMPLETE POST)	\$25.00	19	\$475.00
14	PER L.F. W8X18 SIGN SUPPORT (TOPS ONLY)	\$29.00	500	\$14,500.00
15 I	PER L.F. W8X18 SIGN SUPPORT (BOTTOMS ONLY)	\$44.00	1000	\$44,000.00
16 I	PER L.F. W8X18 SIGN SUPPORT (COMPLETE POST)	\$34.00	22	\$748.00
17	PER L.F. W10X22 SIGN SUPPORT (TOPS ONLY)	\$33.00	500	\$16,500.00
18 I	PER L.F. W10X22 SIGN SUPPORT (BOTTOMS ONLY)	\$50.00	500	\$25,000.00
19 I	PER L.F. W10X22 SIGN SUPPORT (COMPLETE POST)	\$39.00	25	\$975.00
20 I	PER EA., KEEPER PLATE S4X7.7	\$10.00	10	\$100.00
21	PER EA., KEEPER PLATE W6X12	\$14.00	10	\$140.00
22	PER EA., KEEPER PLATE W8X18	\$28.00	10	\$280.00
23	PER EA., KEEPER PLATE W10X22	\$30.00	10	\$300.00
24 I	PER EACH, HINGE PLATE \$4X7.7	\$10.00	10	\$100.00
25 I	PER EACH, HINGE PLATE W6X12	\$14.00	10	\$140.00
26 I	PER EACH, HINGE PLATE W8X18	\$28.00	10	\$280.00
27	PER EACH, HINGE PLATE W10X22	\$30.00	10	\$300.00
28 I	PER EA., BRASS SHIMS 0.012	\$0.50	10	\$5.00
29 I	PER EA., BRASS SHIMS 0.032	\$0.75	10	\$7.50
30 I	PER EA., 1/2" X 1 3/4" HEAVY HEX BOLT	\$0.50	25	\$12.50
31	PER EA., 1/2" X 2 1/2" HEAVY HEX BOLT	\$0.60	25	\$15.00
32	PER EA., 1/2" BEVEL WASHER	\$2.40	25	\$60.00
33	PER EA., 1/2" HEAVY HEX NUT	\$0.50	25	\$12.50
34 I	PER EA., 1/2" STRUCTURAL FLAT WASHER	\$0.10	25	\$2.50
35 I	PER EA., 5/8" X 2 3/4" HEAVY HEX BOLT	\$0.80	25	\$20.00
36 I	PER EA., 5/8" HEAVY HEX NUT	\$0.60	25	\$15.00

CRFQ DOT190000024

The following estimated quantities are for bid purposes only. Actual quantities will be determined by needs of the West Virginia Division of Highways and may be increased or decreased.

ITEM NO.	DESCRIPTION	UNIT PRICE	ESTIMATED QUANTITY	TOTAL COST
37	PER EA., 5/8" STRUCTURAL FLAT WASHER	\$0.14	25	\$3.50
38	PER EA., 3/4" X 3 1/2" HEAVY HEX BOLTS	\$2.00	25	\$50.00
39	PER EA., 3/4" X 2 1/4" HEAVY HEX BOLTS	\$1.10	25	\$27.50
40	PER EA., 3/4" HEAVY HEX NUTS	\$0.80	25	\$20.00
41	PER EA., 3/4" STRUCTURAL FLAT WASHER	\$0.16	25	\$4.00
42	PER EA., 7/8" X 2 1/4" HEAVY HEX BOLTS	\$1.60	25	\$40.00
43	PER EA., 7/8" HEAVY HEX NUTS	\$1.00	25	\$25.00
44	PER EA., 7/8" STRUCTURAL FLAT WASHER	\$0.30	25	\$7.50
		TOTAL BID AMOU	INT	
				\$249,545.50

* - FOR ADDITIONAL INFORMATION FOR BID PURPOSES, IT IS ESTIMATED THAT THE TOTAL NUMBER OF INDIVIDUAL POSTS TO BE ORDERED UNDER ITEM NUMBERS 7, 9, 12, 15 AND 18 IS 195, 30, 120, 110, AND 50, RESPECTIVELY. THIS IS BASED ON THE ESTIMATED FOOTAGE SHOWN AND THE CALCULATED AVERAGE LENGTH OF EACH INDIVIDUAL TYPE POST ORDERED OVER A TWO YEAR PERIOD.

** - FOR ADDITIONAL INFORMATION FOR BID PURPOSES, IT IS ESTIMATED THAT THE FOOTAGE SHOWN FOR ITEM NUMBERS 8, 10, 13, 16, AND 19 IS REPRESENTATIVE OF ONE COMPLETE POST OF THE TYPE SPECIFIED. THIS IS BASED ON CALCULATED AVERAGE POST LENGTHS ORDERED OVER A TWO YEAR PERIOD. THESE ITEM NUMBERS ARE TYPICALLY NOT UTILIZED.